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General Instructions

1. Write your Name, Roll Code, Roll No., Registration No., Date of Exam., Sitting, Faculty and Name of
the Subject on the OMR Answer Sheet in the space provided. Put your full signature on the OMR
Answer Sheet in the space provided.
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2. There are 50 Multiple Choice Questions in all.
% 50 Sg-Apaa UH § |
3. All questions are compulsory. Each question carries 1 mark.
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4.Four Options are given for each question. Choose the most suitable option and indicate it by
blackening the appropriate circle [ ] in the OMR Answer Sheet given separately. Use only Blue/Black
Ball-Point Pen. The use of Pencil is not allowed.
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5. Before leaving the examination hall hand over the OMR Answer sheet to the invigilator. You are
allowed to take the question paper with you.
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Choose the right option:

1. URAH YISl TR Y= fovdn 7T -

(A) 1990 (B) 1972-73 (C) 2007-08 (D) & -Tgi g
When did Project tiger started in India?
(A) 1990 (B) 1972-73 (C) 2007-08 (D) Not started
2. JAUUH HIRGIH! T fba &t 72
(A) (S B (B) XIaC I (C) U8TS SR (D) IS 4

Who discovered the cell first?



(A) Robert Hooke (B) Robert Coach (C) Edward Jenner (D) Ronald Ross
3. U JargH u1q ford a1 § HIel off Yol 6-
KL (B) URT (C)WfeTd (D) T

A soft metal which can be cut using a knife?

(A) Silver (B) Mercury (C) Sodium (D) Gold

a. ﬁyﬁf@ﬁﬁaﬁmﬂﬁ?ﬂ%%mﬁgqﬁm$mWaﬁaﬁmﬁmw
THATE ?

(A) g (B)PIFTH  (C) el (D) TegHifaH
Which of the following is a metal whose electroplating can increase the shining of an object ?
(A) Iron (B) Chromium (C) Brass (D) Aluminium
5. RO I &1 o &I SRS B § 2
(A) =1 (B ) ST el (OHPS! (D) TR HE!

Who is the main cause of communicable disease?

(A) Ant (B) Dragon Fly (C) Spider (D) House Fly
6. MEHA DA -AGRYST ?
AW EF (el (D) T

Which of the following is viviparous?

(A) Human  (B) Hen (C) Crow (D) Duck
7. T OH B 916§ B TR 98 foReR ST1al € | 39 o &9 91 9 StRardt § 2
(A) To@ §d B)RRIqgds§d () TVUIEd (D) GBI T

When combing hair in dry weather, it scatters . Which force is responsible for this?

(A) Gravitational force (B) Electrostatic force (C) Frictional force (D) Magnetic force

8. fgifhd o foT ¢4 &1 =1 AF I b BT g?
(A) TTBS! (B) PRI (C) TedtSit (D) BTSGIS

Which of the following fuel has highest caloric value?

(A) Wood (B) Kerosene (C) LPG (D) Hydrogen

9. AR Y PH- IR RIY F R et o1 FeRor Hrarg?
(A) XY (B) XX (C) &l (D) G B PIS ol

Which chromosomes determine the male sex of the child?



(A) XY (B) XX (C) Both (D) None

10. YR A H 95 &1 UfafSs fbg HIT R s 82
(A) XS (B) BRI ()BT (D) ITH I BIS g

In the human eye, the image of an object is formed at

(A) Retina (B) Iris (C) Cornea (D) None of the above
11. THB BT BT ISRV | -

(A) 7§ (B) T (C) 3T, (D) ¥

An example of kharif crop is -

(A) Wheat (B) Gram (C) Potato (D) Rice
12. IRUNIR B a1 TE & ?

(A) 31TS (8) I (C)ad (D) |

How many planets are there in solar system?

(A) 8 (B)9 (C) 10 (D)7
13. gYUT gHTI-

(A) BTHDRD §

(B) TTHITTD &

(C) T BTHPRS 3R AT AHEID §

(D) $B A H BINGRS dUT $& A | (USRS BIdT1 &
Friction is always -

(A) harmful

B) profitable

(C) neither harmful nor beneficial

(D) harmful in some cases and beneficial in some cases

14. TRIE FT & o I BT ITT BT 2
(A) TTfeTEEeR (B) AT (C) PU™ (D) 379 Y PI5 Tal

Which fiber is used in making parachutes ?

(A) Polyester (B) Nylon (C) Cotton (D) None of the above

15. HTFId & HTHI P [ YT IR © -



(A) 20 Hz - 20000 Hz ~ (B) 20000 Hz  (C)2000Hz (D) 38 | I3 gl

The range of audibility for the human ear is -

(A)20 Hz-20000 Hz  (B)20000Hz  (C)2000Hz (D) None of the above
16. TP 43 & ST ¥ Y& & T &I RPIS BT A G 2

(A) R QAT (B) FTR  (C) hu Tl (D) STH A IS Tl

Which instrument is used to record seismic waves ?

(A) Richter scale (B) Computer (C) Seismograph (D) None of the above
17. f4% A9 T UG HRUTE -

(A) TTSCISH 1 Fgcll AT (B) SHTeRAISIH b1 Sl AT

EIEEEICESIEIEI (D) FTE SAHFITZS HI Tl A

The main cause of global warming is-

(A) Increased amount of nitrogen (B) Increased amount of oxygen

(C) Increased amount of ozone (D) Increased amount of carbon-dioxide
18. YHCOA TG -

(A) TTST (8) T (© P (D) Tl

Endangered species is

(A) Horse (B) Cow (C) Dog (D) Tiger

19. Sig HIRAHT B FT SURUT BT & 2
(A) DIRBT I (B) hab (C) PIRreRT i (D) Sl &=
What is absent in animal cell ?

(A) Cell Membrane (B) Nucleus (C) Cell Wall (D) Cytoplasm

20. Tt 3 YfGehRU1 H b 31eTq BT ST BT & 2
WFHE (@) TR (o) RS (D) TsgeA
Which non-metal is used in the purification of water?
(A) Bromine  (B) Chlorine  (C) Oxygen (D) Nitrogen
21. fay & ga ufaoifas w1 § -
(A) TETTSIaAH(B) WUSHRRA  (C) TR IEIEISIRE
The name of the world's first antibiotic is -

(A) Tetracycline (B) Streptomycin (C) Erythromycin (D) Penicillin



22. O A SIS Qo Ud SHTeRiior BT SUTd o1 51l 82
(A) 2:1 (B) 1:2 (C) 2:2 (D) 1:1
What is the ratio of hydrogen and oxygen in water?
(A) 2:1 (B) 1:2 (C) 2:2 (D) 1:2
23. 70§ ¥ 59 oflg # fegsTgRISH g ?
NGES] B)RMR™A () safleT (D) SRR

In which of the following organism reproduction occurs by binary fission?

(A) Hydra (B) Paramecium(C) Amoeba (D) Bacteria
24. %9 P GaTd e &b S 4
(AFSHE  (B)TGIe  (C) IS THTd el Usdl (D) STH A PIE el
With increases in depth the pressure of fluid -
(A) decreases (B) increases (C) has no effect (D) None of the above
25. $U & &SI HH BT HAB Bl & -
(A) Kg (B) KJ (C) KI/Kg (D) K/J

The unit of calorific value of fuel is -

(A) Kg (B) KJ (C) KI/Kg (D) K/
26. PRI HIITE -
(A) 119 19 TY (B) 6 T 10 9N (0T 6d¥ (D)STH I DI el

The age of adolescence is

(A) 11 to 19 years (B) 6 to 10 years (C) 0 to 6 years (D) None of the above

27. TTHA 73 & GIR1 Ug & fo18 Taiferd Jfaersd gl 8-
(A) 26 cm (B) 28 cm (C)24 cm (D) 25 cm
The most comfortable distance for reading with normal eye is -

(A) 26 cm (B) 28 cm (C) 24 cm (D) 25 cm

28. Tdl, Tl Ud Afeord! &1 58 THM TR I Bl g -
(A) TR (B) Bifchea’ (C) PR (D) 3TH I PIs Ta!

Large scale production of flowers, fruits and vegetables is called-

(A) Apiculture (B) Horticulture (C) Sericulture (D) None of the above

29. 5T UB BT THIT IRT YT AT dRT BTl g ?



(A) gY (8) gl (o) Fgwld (D) YD
Which planet is called '‘Morning Star' or 'Evening Star'?
(A) Mercury  (B) Earth (C) Jupiter (D) Venus
30. T 3T ) ag R RA TNV HHAEIATE 2
(A) STITBR (B) FMPBR  (C) TPIBR (D) FABR
Which shape of object has less fluid friction?

(A) Rectangular (B) Square (C) Boat shaped (D) Circular

31. Uerd S UTgpfaes Ufehal oI Sfia] & gRT3Ugfed 8idl €, dl dheardia ?
(A)Sid ezl (g) Sia siREiwRufi (C) TR Y=MM(D) 3TTCH

Substances which are degraded by natural process such as bacteria are called

A) Biodegradable (B) Non-Biodegradable (C) Synthetic fibre (D) Decomposer

32. @91 P Uadl [ g HRb W R Bl 82
(A) AR (B) @M (O)WR DESEREIERE]

On what factors does the loudness of sound depend

(A) Pitch (B) Amplitude (C) Noise (D) None of the above
33. fAudid Mo & g w1 ufaferar g1t § 2
(A) 3MHYUT  (B) TP (C) 3TN TS UfAepyur G (D) 394 A BIS TE

What reaction takes place between opposite charges ?

(A) Attraction (B) Repulsion (C) Attraction and repulsion both (D) None of the above
34. BRA T8 UG 3R AfYe aro & fore ey =0 IR 1 7 -
(A) BT SRS (B) T (C) &t (D) G H BTs T8t

The gas mainly responsible for greenhouse effect and global warming is

(A) Carbon Dioxide (B) Methane  (C) Both (D) Neither of them

35. 98 s rorad gt Heherad Ueiird! &1 Rabls 39T oildl §, Heamdl g -
(A) &I SICT b (B) U ST b (C) Tl STeT g (D)X STeT
E53

The book in which the record of all endangered species is kept is called

(A) Blue Data Book (B) Green Data Book  (C) Yellow Data Book (D) Red Data Book
36. P A @ - T Ugd SiiaA A § 2
(A) ARGl (B) URHTY Sl ()@ Sel (D) PIIar

Which of the following is a fossil fuel ?



A) Solar energy (B) Nuclear energy (C) Hydro energy (D) Coal

37. BB T DHIRABT 507 & st Tielt a1 el 8, Ty ped & -
(A) DIRBT I (B) DIfRTewT Uk () Rfeqr  (p) bad
There is an empty structure in the cell between the cytoplasm which is called
(A) Cell Membrane  (B) Cell Wall  (C)Vacuole (D) Nucleus

38. DI - Tt AU HIR & ag W 1} I & T SfNfpA HRA G 2
(A) 40 BRGRY (B) AT HRWBRY () "feTd (D) URT
Which metal reacts with air even at room temperature?

(A) White Phosphorus (B) Red Phosphorus (C) Sodium (D) Mercury

39. fhU B UGBTI Bl WIS T &t oF 2
(A) TSTS SR (B) ST} T (C) Jac g (D) T3 TR
Who had discovered the process of fermentation ?

(A) Edward Jenner (B) Alexander Fleming (C) Robert Hook (D) Louis Pasteur

40. SI9 A1A faera- H faggd U1 yaifed &1 St § a9 faaa & 313 uRad= gar g1 98
YPpd BT -

(A) faggd uRT & IS THTd B (B) A YRT & IS TG BT
() Taggd YRT & G 1d UHTd Bl (D) f4ggd YRTS dfSd UHTd B

When an electric current is passed through a conducting solution, the change in colour of the
solution indicates

(A) Chemical effect of electric current (B) Heating effect of electric current

(C) Magnetic effect of electric current (D) Lightening effect of electric current

41. fay o Tduyy U VS &1 Fa fasRid forar mar o, ST A Ot -
(A) STt (B) TG (C) STcft (D) Frfeeran

A clone of sheep was developed for the first time in the world which was named as -

(A) Barbie (B) Charlie (C) Dolly (D) Simba
42. WA ©-

(A) 319 Td gd g1 (B) %d Td T G

(C) 31 T& T Gl (D) TTH A B TEl

Fluid is



(A) Both solid and liquid (B) Both liquid and gas
(C) Both solid and gas (D) None of the above

43. aegd IUHRON H oht 3T g3 & oY Ga 33T SAEHH § -
(A) T (8) Ucrd (C) TS ST HRIES (D)

The best fire extinguisher to put out the fire of electrical appliances is

(A) Water (B) Petrol (C) Carbon dioxide (D) Qil

44, TSHI B AP THA IHI G YT HEaA © -
(A) USRI TUA ATHSADT  (B) NPT (C) UTRISS (D) TTH A bIs Tal

The bulging in front of the neck of boys is called

(A) Adam's apple or Neck stone (B) Larynx (C) Thyroid (D) None of the above
45. A UHTR (GF & Y1) & fohd T8I 72
(A) 4 (B)5 (€6 (D)7

How many colours are present in white light (sunlight)?

(A) 4 (B)5 (C)6 (D)7
46. U WM R TS &1 YR P g1 AR H I TN Nl B AT hed o2
(A) ST (B) BId (C) P (D) Wit

What is the same type of plants grown at one place in large scale called ?

(A) Grain (B) Crop (C) Agriculture (D) Farming
(B)
47. T Ui & s Bt gl o) fob SepTs B ATT ST 82

(A) fpaer  (B) Hiex (C)UPIT T (D) IR aY
Which unit is used to measure the distance between celestial bodies ?

(A) kilometre  (B)metre (C) light year (D) solar year

48. TNU] I gl BI 308 TWS Jdal W -
(A) SHUBBIATG. (B)PHBIAIE (O NERFATE (D) STH A PIS a1

Friction on rough surfaces as compared to smooth surfaces is

(A) More (B) less (C) equal (D) to none of the above

49. FA A DA UHfa®s dgas | -
(A) UIIGER  (B) U@ (C)Ushfeldh (D) TR

Which of the following is a natural polymer



(A) Polyester  (B) cellulose (C) acrylic (D) nylon

50. S @ G- B P @it 8, S Hed g -
(A) et e B)Wid (TR (0) §&S
The sound which is unpleasant to hear is

(A) musical sound (B) music (C) noise (D) pleasant



ANSWER KEY

1B 11.D 21.D 31.A 41.C
2.A 12.A 22.A 32.B 42.B
3.C 13.D 23.C 33.A 43.C
4.B 14.8 24.B 34.C 44.A
5.D 15.A 25.C 35D 45.D
6.A 16.C 26.A 36.D 46.B
7.B 17.D 27.D 37.C 47.C
8.D 18.D 28.B 38.A 48.A
9.A 19.C 29.D 39.D 49.B
10.A 20.B 30.C 40.A 50.C




